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1.  Suppose you have just engaged in an option transaction which gives you the right to buy AT&T stock.  What option transaction have you just undertaken?  Be specific.  Bought a call.

2.  Suppose you have previously purchased a put on Xerox and the option is expiring.  Sketch a graph of the net cash flow you will realize today as a function of the price of Xerox stock.
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Use the following information and the attached page from the Wall Street Journal from Tues., October 13th, to answer questions 3 and 4.

Suppose that on Monday, October 12, you purchased seven calls on Coke with a 60 strike price and which expires in November.

3.  How much did it cost you to purchase the calls? 
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4.  If the price of Coke rises by $4 per share by the expiration of the options, what is your total profit/(loss) from purchasing the calls?  
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5.  Assume that you are thinking about buying a call on Dell stock.  While you are thinking about it, Dell’s stock falls by $6 per share.  What should have happened to the cost of buying the calls?  fall

Use the following information to answer questions 6 through 9.

Assume you want to use the Black-Scholes Option Pricing Model to value some calls on Sunbeam with an exercise price of $5 per share which expires 36 days from today.  You notice in the Wall Street Journal that Sunbeam’s stock is currently selling for $
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 per share and you expect it to be selling for $8 per share when the option expires.  The standard deviation of returns on Sunbeam is 36% and on the market is 22%.  The return on T-bills (all are annual rates with continuous compounding) are as follows:

Maturity
Rate

2 days
4.27%

9 days
2.75%

16 days
2.87%

30 days
3.50%

37 days
3.64%

45 days
3.65%
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6.  What would you enter for S0 in the Black-Scholes model? 
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7.  What would you enter for t in the Black-Scholes model? 
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8.  What would you enter for rf in the Black-Scholes model? .0364

9.  What would you enter for 2 in the Black-Scholes model? 
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10.  Suppose that you would like to create an artificial put on Yahoo that expires in November and which has a $120 strike price.  What transaction must you undertake in addition to short-selling Yahoo stock buying T-bills that mature for the $120 in November?   Be specific.  Buy a call on Yahoo with a $120 strike that expires in November.
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